
NSN 5340-01-612-1796
Mechanic Equipment Hardware Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/5340-01-612-1796

End Application:

5430-01-487-7760

Product Name:

Ladder section top assembly kit

Special Features:

Kit includes 2-crimp sleeve,  2 wire rope x 14feet lg.,  14 - .281 id x .50 id x 0.031 thk ptfe flat washer,  2 - 1/4x20x2 hex bolts,  2 safety snap

pin,  2 hood latch,  16 - 1/4 flat washer,  16 - 1/4x20 lockwasher,  16 - 14/20 x 1 3/4 hex bolt,  2 scissor strap, 1 platform step,  1 platform,  1

ladder section top

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

